[ Efficiency vs vertpos |
~ 0.7
£0.09
g
20.08
(8]
§0.07
QL
£0.06
0.05,
0.04
0.03
0.02

0.0

o O
T 1.2
a4

B

0.8~

1072 107 1

10 0?
TP vertr (cr%)

—=— DQM_TT__mkFit-DQM_original
Efficiend —— pM_TT_ mkFit-DQM_original_newwindows

N 0.2
20.18
) n
>0.16F
>

8 C
$0.14f
(&) L
£0.12F
q') . . . . .
R Nt S| RS
0,08+ b
YO RRSRRS NSO OO S
0.04 : ' ;
0.02

i f
g
PR

Ratio

[ Efficiency vs. sim PV z |
~ 05
>
0.0.45
S
o 04
£0.35
0.3
£0.25
3]
0.2
0.15
0.1
0.05]

iency

Ratio

10 15 20
Sim. PV z (cm)




	Contents
	Page 1


